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L. Prove by Mathematical Induction that 7" - 3" is divisible by 4
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2. Prove by Mathematical Induction that 3+ 5 is divisible by & for all ODD
positive infegers 1. -
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3. 1Jze mathematical induction to prove that
146+15+..+n(2n-1)= %ﬂ{#nm]}(ﬂ +1)
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- Prowe by mathematical induction that o+ 2 s divisible by 3 for ul
positive infegers n.
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5. Use mathematical induction to prove that 37" + 3 1o divisible by B, for all
infegers m, 02 1,
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6. Use Mathempticel induction to show that 5" 53"+ 47 for all positive fnlegers nz 3.
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7. Use the principle of mathematicel induction to prove that 3% _ 1 is divisible by
8 when n is g posilive infeger.
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8. Use mathematical induction to prove thar 4 = 297+ 33 s divigible by 5 for all
integers my ez
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9. 11se Mathematical Tndeetion to show that for all positive infegers n -1
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{n+ 2) for no= 0,

10. {1} By squaring both sides, show that 2n 4+ 3 > 24/(n + 1)
{ii} Prove by mathematica) induction that -
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Sotestformw b 3L 528 which s divisible by 8 Thus 6. Define the sequence of sialements S(”): FR¥ed, nsdd s

itistrueforna 1,

Assame R divides 39

23 L5 w80 where 4 s w integer
P 3% a5

+35,

Testlform=&+1:
J?U:-L B-1 fi= 32 :’{32&&-[ +3

=0x (8 ~5)+3

=Tk =40

=8(9k -5}
R(9d - 5) is divicible by 8 a1 %1 - 5 ig an integer. Thos if
38 F & 5 {5 divisibie by 8 for an intogar value of i, then it is
divisible by B for the foliewing Inieger valoe of n Sloee [ s
diviglsleby 8 for n=1 and =2, it is divisible by § for ol
positive inlegers n.
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Consider 3(3}: §:125 Fed'=0l n3744 o S(S) i mue,
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Cousider $(k+1); =5,

=5 (3' ! ) if S(k)inire, g **
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>384 4
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Henea if .S(it) s true then S{F-+1)s e, But S(S) istrue, hence 3(4) {5 trie, il then S(S) is trug &

soon. Henee by Mathematical induetion, 57 3%44" for all positive integers n23.

8. Tuprowe & x 204 3% g divisible by 5 for intsgers nx {0
s Fegt fpr o =1,
e 30z 4
"t foe B,
o e o s 26+ 398 jg divigible by 5 for inergers &2 €,
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&g kel A
= T2ty 3 5 3
e 8w 2 P [SM -4 % 2¥]
=IHE-ITxdA]+ SM w0
=— 100w 2 50 w30
= = 20w 2t 4 i w35
Aos A bgan inteper, K 35 an inlege, then
[=0 = 3% & 8w %507 1x om initeger aleo,
oo 0T 3R g B, foe o nkeger J
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divisibile by 5 Tor the following iotepral waluc of 12, 1 has
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* Lat S{ﬂ), Hwl, 2,3, .. bethe sequence of statemenls Er(ﬁﬂ}i' ml o7 n=L273.
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